www.oldairproducts.com

Ao
PRUIUETS)

1201 Forum Way South - Fort Worth, TX 76140
(817) 531-2665 - FAX (817) 531-3257

HEAD
3/ m_x 2 4 G 1 15/16" Spacer
fF\ q \lm 3/16" Spacer
a @
5/8* MUQOQ

3/8" Nylock Nut =

3/8"x 12"

3/8°x 1"

This bracket was designed to be used

with Chevrolet doubie groove crank and
water pump pulleys. The current G.M. part
Numbers are 3744043 for the crank and

(We use a belt length of 61 1/2-62
3995642 for the water pump.

with this mount on Instaliations In
our shop. However; this can vary

When Installing th
en Installing the mount, start with the diameter of your pulleys.)

all bolts and mount the compressor
before tightening.

716" x31/4”

COMPRESSOR MOUNT

348-409 CHEVY
PASSENGER SIDE - LOW PROFILE

3/8"x1 1/4”

3/8" Nylock Nut

w\._wxw 1/4°

e

3/8" Nylock Nut

-

Nﬁr " ”
@ me x 3/4
/ )
3/8" Flat Washer

/

3/8" Nylock Nut

As with any part of this nature, make sure it fits your application before painting or plating.
Parts that have been painted, plated, or modified may not be returned.




